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Set Id : 62325_20 BATCH3 D.ELED Odia 09NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

Not every old man with ragged trousers is a bad old man: some are bone-and-bottle men, and
have little dogs of their own; and some are gardeners; and a few, a very few, are wizards prowling
round on a holiday looking for something to do. This one was a wizard, the one that now walked
into the story. He came wandering up the garden-path in a ragged old coat, with an old pipe in his
mouth, and an old green hat on his head. If Rover had not been so busy barking at the ball, he
might have noticed the blue feather stuck in the back of the green hat, and then he would have

suspected that the man was a wizard, as any other sensible little dog would; but he never saw the
feather at all.

1) Who is Rover?

A) An old man
B) A dog

C) A wizard
D) A boy

2) Who should have noticed the blue feather stuck in a green hat?

A) The wizard
B) Rover

C) The old man
D) The boy

3) What among the options are the very few old men?

A) Teachers
B) Sailors
C) Wizards
D) Doctors
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4) What kind of dog is mentioned in the passage?

A) Unsensible

B) Faithful

C) Strong

D) Hale and hearty

5) What should the dog have sensed?

A) That the man was a thief

B) That there was a fire

C) That there were many people
D) That the man was a wizard

6) Fill in the blank with the correct option:

Raijiv said that he could
clause for delayed payment.

all clauses in the lease agreement the penalty

A) accept, except
B) except, accept
C) accept, accept
D) except, except

7) Which alternatives from below fits to be the best meaning of the phrase "Fiddle around"?

A) to spend your time doing nothing

B) to make yourself busy in something
C) to report the issue to higher authority
D) to mark your name in a tombstone

8) Fill in the blank with correct prefix or suffix:

People could not tolerate his child behaviour.

A) ish
B) some
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C) sum
D) ward

9) Which of the following words is correctly spelt?

A) inconvenience
B) inconvenance
C) inconveniance
D) inconvinience

10) Which of the following alternatives explains the phrase "Duff up"?

A) to love or adore somebody to the extreme
B) to hate or dislike somebody severely

C) to drink up something to the throat

D) to hit or kick somebody severely

JoinUs-' > &f
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which chemical is mixed with polyblend to lay roads and increase efficiently the durability of
roads?

A) Styrene
B) Bitumen
C) Acetone
D) Acrylonitrile

11) a2l @RIRNR| 6QER afcqe 286 694 QUG a9Idg Fde eaIar e Gzl@%l@@a ANGG B [RUAREAN ?

A) 2908

B) Ggedia

C) @saiq

D) 2FERARIDGR

12) What was the code name of the military operation in September 1948 for annexation of
Hyderabad into the Indian Union?

A) Kashmir
B) Hyderabad
C) Manipur
D) Junagarh

12) 2Q9I91@ § NG YF2R. ﬂlﬁm\ QA9 AR 6a6gnQ € ¢y adeca 6a 62NN AN ARIRG 6QIQ, QI 41 Bl ?

INEDR
B) ele@ieiq

C) adga
D) aqice

13) All of the following are functions of the National Council for Teacher Education EXCEPT:

A) taking all necessary steps to commercialization of teacher education
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B) laying down guidelines regarding tuition fees and other fees chargeable by recognised
institutions

C) Co-ordinating and monitoring teacher education and its development in the country
D) Undertaking surveys and studies relating to various aspects of teacher education

13) ¥2l 616 F64)I9 A02 6LARE QIFIE 22Ie F9 0AER QIS -

A) G IV RALSAE KA diel 2R AT II6/Y Fod KE9

B) A9EQIg AQVAYER QA U YR GR I AR R ANNER FERIRT QY
C) 2rIge dal 99 6Q46Q N2AQ FRIIR AT 8l I8 6RIQH KRS

D) 2kioe deia 98iq Ge a@e ande QACIBE IS 2RIGR 216G 699

14) Which body was supplemented by the experiences and funding of international agencies?

A) District Primary Education Program

B) District Institute of Education Training

C) State Council of Education Research and Training
D) Early Childhood Education Centres

14) zissiera Tggeaa adnel ¥&* aid QA 6ad TQig A°JA@ QUER @7 dIRe/ml ?

A) G389 QR6AQT IGERER 61FIE

B) 68@q 0g.gYe AT IgeRaq 656°

C) 68Q QOFR AT PR QAT 94 685°
D) 2 SI0REe 9g6@9q 64°6d

15) According to the NEP 2019, learners will be exposed to different vocations at the

A) elementary stage

B) pre-secondary stage
C) secondary stage

D) high school stage

15) 9Q QD 90 ¢ Bgaial, Saidaise 1@ adiuca AR Q& 2SY agye 269

A) 998 adia
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B) ge-ciuéie adya
C) fufie adia
D) @@ Gauipa adia
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) M is richer than N, P is richer than M, Q is richer than P and R is the richest of all. If they are
arranged from left to right in the increasing order of their richness, then who will be at the 4th position
from the right?

A)M
B) Q
C)R
D)S

16) M, N oig aia1, P, M oig aie1, Q, P 01g 191 ve R anae aayea ag0iq a9 1 98 6976 Clea M@ Q6a 210 @IRisg
ARO 22B, 6069 GIRIEQ 9g2 YIFER &I QFE ?

A)M
B) Q
C)R
D)S

17) In a certain code language, if the word HISTORY is coded as ZSPUTJI, then how will the word
PICTURE be coded in that language?

A) ERUTCIP
B) FSVUDJQ
C) ERVYCIP
D) FSUVEJQ

17) ¥e 384 sxia ausica, 9@ HISTORY ge ZSPUTJI aiesa saie seia@, sese PICTURE 96 @ 628 eigica 89@ 6a1q
QU e 2

A) ERUTCIP
B) FSVUDJQ
C) ERVYCIP
D) FSUVEJQ

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Is the perimeter of a rectangle ABCD greater than 40 units?
I. Width = 25 units
1. Area = 200 sq.units

A) 1
B) 2
C)3
D) 4

18) FONYC ggesaca 586 eaq :
2. 28 FQQ4 | araia QAQ saaIg A62a 26T |

9. 9@ QQQE! 1] wgfal anaiia VAR caslg g6aa 26T |
M. 98 GG | ¥e* Il aang 1910 FAHe 6969 AR AR 699! Alel ATHIg 216e |

a6 GeQdl | ve || aevg 9wI0 S215e 6069 @ ANAG RAR 629! ale adig Q&< |

ABCD zinessae 9d@iel ¥o g8 q 2de & ?
l. 99 = 98 gfe

Il. 689PP = 900 o6l g&e

A) ¢

B) ¢

c)
D) ¥

19) An analogue wrist watch is displaying the time as 4 : 30. If the minute hand is pointing east, then
in which direction is the hour hand pointing?

Join Us-
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A) South-east
B) North-east
C) North

D) South-west

19) 9@ ZiIring 2le A86a ANG ¥:Mo ANA Jode aqs | 98 Re gl 9¢ Sag 9eIad, 6660 U] @9I0 6ad d0ig YIRS ?
A) @88-99
B) @aa-g¢

C) aa
D) @84-a4¢

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

Isx>y?

l. 9x = 4y

Il. x and y both are positive integers.
A) 1

B) 2

C)3
D) 4

20) YNYL g9gdeca 536 @ag :
0. 9% QG4 | aravia RRQ saaig Asaa ZET |

9. 9@ QR4 Il wgFal andia LAA caig Fcaa 26T |
q. 98 @0 | v || aneg weI0 §2ife o6 ANWIR QA 60 AIe AHHIg 266 |

¥. 9@ 994 | ve || aewg vaI0 Faide 606 & AT AR caa! aIe aig ged |
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X>VYae@?
l. ¢X =¥y

. X ¥er y aa9 62R8% ueIge 9dIs |

A) ¢
B) ?
C)T
D) ®
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) According to Realism, which of the following is true?

A) Spirituality is ultimately real goal of education

B) External world is logically constructed out of sense data
C) Practical utility should be focus of education
D) Natural laws should dictate education

21) 91990l 219dI6Q, FORAYE RIQ 6LE A6y ?

A) RIS 6208 S8 990 A

B) @124 9910 399 QI96q 2 eeng &fe

C) @Ue2de QaeaIasl S8 aasa 2R 6291 UL
D) gi9de fangee daig Fe0d 609 2R

22) Which of the following strategies can prove to be more effective in increasing the engagement
of the whole class towards learning?

A) Use single technique to carry out the teaching assesment
B) Provide a single topic as assignments and projects

C) Provide more choice in assignments and projects

D) Use lecture method to carry out teaching

W

22) 3qnge 6a19994e OQ 6908 I8 god Gea A0 64410 6QITR 9F FBER 2R JRILAIN 691R gAIdie ceIRalER ?
A) AR ISR KBS digl 998 966 QIeTia 999
B) 92@idi 4& gae 9Iesa 6618 G996 gale 9ag

C) geaidi wer geesa 24e @R gaie eag
D) 98I Q49! dial 9361 988 NPAR K9

23) The first National Policy of Education was promulgated in the year

A) 1986
B) 1996
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C) 2006
D) 2016

23) 9291 QIS1A QI AT 6R6Q 2R 6TARYMI ?

A) 1986
B) 1996
C) 2006
D) 2016

24) NCERT acts as a nodal agency for achieving goals of which of the following?

A) Universalization of Elementary Education
B) Privatization of Education

C) Research in Higher Education

D) Teacher Training

24) G6gI8 UQ ERNER ANY 21dn 8891 AR YRIRAUAT 9L ERIGIN IERT AR FIY @RI ?

A) 9I94e daie s1ead
B) d8ia asaiaeas

C) e@daIsq ceassl

D) 9@ olda

25) For using discussion method successfully in the classroom there are several requisites. Which
of the following is one of them?

A) Never combine discussions with other methods.
B) Ignore certain questions and comments.

C) Use verbal and non-verbal cues to encourage participation.
D) Answer your own questions.

25) 68419260 ATFEIQ 906 ARG IRE MILIR FHSI AIF! Z6RT UALMFG ABF | HIAYE ARIQ AT 62aR 6AYER AIQ 691G ?

A) AAISRIY LR ARG A2E 69699 (gd fag D |
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B) a5 g4 e F2g 1eia §2g |
C) 6dlaeieg a2ide @891 dia 67Ige e A¢-6agR 9o eeR [ag |

D) d¢ 999@ea @aa @ag |

26) Homework should be an opportunity for students to engage in creative, exploratory tasks. Which
of the following examples of homework best fits the description?
A)

Children record their parents responses to a survey and evaluate their responses for reliability.
B)

Children find out how much water is consumed by an average household by talking to five
neighbours.

C) Children write down the names of all the things in the kitchen and learn the spellings by heart.

D) Children learn a poem by heart, recite it in front of the mirror, and correct their diction, then
they recite it in front of parents and neighbours.

26) 21e0I9w alel §2Cio I8 IRRHIR, U9ANRRIR! QIisa BaISe c2ql Tls IR J6AIT 629 2URNR | FRYE ALILNaYER CUg
696 @ odaiq aOREIse 04l ?

A)  TRAER 9@ QAVEER 6AAIFTR TOIIGIF YETAUFF] 608% FaS I FRALAING! IR 6AATFR JEFAIE] ISR 998
B) dainien Are @4 Jseldie AP Q2T 96 aa G281 IDIR 6§66 K0 PR 628 K143
C) dAIfIER ERCINAER 2T ATL FFTR Gl 6RME IS 9FIQ FEFQE

D) daIAER @ @F6! AANIES A6RaHSE, 12Ig @dél QAIER Yodl ULE, IS CACIRTA FFF TEARIS F0E, GI06Q 6ARNEH 2Ig
JRIAIGI N V6Tl 26 IS

27) The classical conditioning theory proposed by Pavlov is also referred to as

A) operant conditioning
B) stimulus substitution
C) gestalt view

D) trial and error

27) aeqes 929196 91918 2daqa dvieg, ol g@Iang |

A) 260604 edad
B) @@ie gdgiae
C) scaI Qs

D) aaigsl e° 9F
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28) Being multilingual in the context of learning and teaching in school involves which of the following
things?

A) knowing one's language

B) knowing the dialects of one's language

C) knowing more than two languages

D) reading and writing two languages

28) JouRasa Gl e SRIQIR JATER QERIS! 6291 AAde FFEYER FvIQ 6906 USYS R6A ?

A) saca aiaig @18l

B) casa aisia acaisiq @idal
C) 205Q 2Ye fIgl RIS

D) 9o e19i6Q ade! 9 sags!

29) The UGC performs all of the following important functions EXCEPT:

A) It promotes and coordinates university education

B) It Coordinates various programmes organized by National and Regional agencies
C) It determines and maintains standard of teaching

D) It determines and maintains standard of examination

——

29) gad AONYE 6995 QIE16 IR A JeRJE QIdY AT Q6a ?

A) 921 SERMIRA JRIg 691AIRR G 6 AAYY @6Q |

B) gl R1619 G 2rede 9°gl g0l 62R92Q 0% AIIGIF AR V69 |
C) 92l QNN FI9 TQ F6Q 8 AARIRA R6Q |

D) 9@l 9Q19IQ QIR FQ K6Q @ ARG Q6Q |

30) The critical thinking ability in which a student breaks certain content or thought into parts and
examine each one of them is referred to as

A) Brain storming
B) Synthesising
C) Analysing

D) Mapping
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30) 9@ i SRR 6ARYCA R6El I8 AT F0G AU FUAIY FF LITa Fe8 FRANM I 629G 95 APg Are @GaN SI9l
coad

A) €192 age

B) a°ca@4

C) Feq88

D) eui&e
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 665 QUTIER IS 629YQ 4l AT K6 QRIAIN?
A) 33
B) adicugl

C) 4@
D) qiey

32) @G0 624% a0 Soaield 9 9B 26 JAUQ Q5T Y0 RG] QIS |
A) 2981e
B) 2e%

C) 2as!
D) 29284

33) @3RI, 99, BG4, LIAUYR — IGER @ IRIQ TeETY?

A) Q43
B) ag
C) a1
D) gé

34) ‘2de’ sna fadeidsais 480 I8 |

A) aade
B) qeie
C) geude
D) 2ds

35) R6QI8 I 62AT FAY FIAR UGYER FAR IR
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A) Qg
B) ¢1&@Q
C) aue
D) @i

36) 699 699 98 90Q AR 2¢g AR G AL YR AR IR G YN SIAF K'E GRIAIN?

A) 2@l
B) aaql
C) quaq
D) Qigyiel

37) aaed @ Fe8is 9ea Q@ 87, 27, 97 9ed g NRLICYER 659 DR §9 7

A) &9 g6
B) 28 g6ia
C) © 9640
D) @ ge4a

38) ‘caigsx 60IR s*all 6291 QPR 2d RYUE /) |

A) §Qle, Srysl
B) 9@l ee6eql
C) sala uddel
D) salie faseel

39) ‘QIRIQQI K2l KLY B’ AELMNER 6% QS Y |

A) #1943

B) 2l clel cI1gaiel 43
C) 799 99Q 4

D) uegal 94d
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40) 919 9 - 6QGITE A9T @ gRIa GeETd ?

A) Feasia Y6894
B) @ul Q6994

C) Qeunr Q6494
D) aeqifie S6aa4

41) ‘29’ saa A6CIPIE6 906 QIS |

A) 2geie
B) @i©
C) @i
D) @@

42) 6@16d 98 OI'Q QYIS 2dg YR U@ IR FEY MNP QI @g @ LN, 6969 GIR @8 QRIAN ?
A) 9@ @@

B) 6qlde ae

C) 6dld@ e

D) saiqge e

43) ‘Q@ udca ‘@R’ geua 6QIFER 900 SR IS |

A) WM
B) dieaiml
C) aAnIm

D) aqaieinl

44) QIQY G6STE QILIQ QRIAN?

A) Q19! QevQ 2dg F6986 @69
B) izl 90 2dg 36886 @60
C) QIg1 9ea 2dq 6686 @6a
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D) QI1gl Q6694 ARl F1IEQ QAR R6Q

45) ‘¢1a’ aaa anIdeqlie d96 QUL |

A) 899
B) ¢

C) /e
D) aidgie

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 5 added to four times a number gives 25, then what is the number?

A) -5
B) -4
C)4
D)5

46) a@ 5 saIgq craie Qb ga ae sa1a aqgia 25 dse, 6669 PHIT 666 7

A) -5
B) -4
C)4
D) 5

47) Chords AB and CD of a circle intersect each other at E. If AE =4 cm, CE= 8 cm and ED = 3 cm,
then what is the length of AB?

A) 6 cm
B) 9 cm
C)10cm
D) 12 cm

47) <% 9ea 241 AB 9o CD cegeq E ca dega 968196 AE = 4 sad, CE = 8 6afi wer ED = 3 6, cose AB a an
6969 6297

A) 6 sad
B) 9 6

C) 10 sad
D) 12 sad
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48) Three different containers contain 480 litres, 576 litres and 720 litres of mixtures of milk and

water. What should be the capacity of the largest container that can measure all the different
quantities exactly ?

A) 32 litres
B) 36 litres
C) 42 litres
D) 48 litres

48) Geaid G aesa 480 Aicq, 576 dca e 720 fea 818 ¥e* @@ g6 2IM| 99 Q26 g BAS| 6966 629l ZIRLER AIL!
208 G 98169 A0R NNER FIY FAAGD ?

A) 32 e
B) 36 fea
C) 42 Qea
D) 48 Giea

49) Marked price of an article is ¥ 1,500. It was sold after 2 successive discounts of 20% and 25%.
What is the selling price of the article?

A) Z 600
B) 750
C) Z 800
D) 2 900

49) 9= 2qaa fAde ga c2a@ T 1,500 1 20% e 25% aiee 28 Gal6 0sa 12| §8 627 | 6669 ATRR FRL IR 6RES ?

A) T 600
B) ¥ 750
C)Z 800
D) % 900

50) If 2x - 3y = 20 and 3x - 2y = 10, then what is the value of (x - y)?

A) 5
B) 6
C)7
D) 8
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50) 9@ 2x - 3y = 20 9e* 3x - 2y = 10 24, 6069 (X - Y)@ F1I9 6@60 629 7

A) 5
B) 6
C)7
D)8

51) What is the radius of the circumcircle which circumscribes a triangle with sides 6 cm, 8 cm and
10 cm?

A) 5cm
B) 6 cm
C)8cm
D) 10 cm

51) 4@ 069ea MIAIF 6250 629 Q121 9 6af, I 6aF 9e° o 6af Al 998 e Feag AdRde asa ?

A) 5 sad
B) 6 ead
C) 8 6af
D) 10 safi

52) The HCF and LCM of two numbers X and Y are X and Y respectively. Which of these can be the
valuesof Xand Y ?

A) 3 and 24
B) 8 and 6
C)10 and 15
D) 20 and 35

52) af sl @ 19 & @ GG 99" RAIg QAIRET @ IS &l | MRAFRIQ 6966 @ IS & Q JRY 6RIRAER ?

A) 39Q° 24
B) 8 99°6
C)10499° 15
D) 20 99° 35
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53) A shopkeeper offers his customers a discount of 15% on an item and still makes a profit of 25%.
If the marked price of the item is ¥ 300, then what is the actual cost price of that item?

A) % 220
B) 2 216
C)Z 210
D) ¥ 204

53) @64 6aiqIg1 G0 gleag 1@ @g 2a6a 15% 6216 gaie @ad e caid 25% qie @8 | A8 oga @86 gay T 300 saiaal,
6069 6QR ©ga gee el 6@60 ?

A) % 220
B) Z 216
C)Z 210
D) ¥ 204

54) A car travels 80 kms in § hrs 20 minutes. What is the time taken to travel 160 kms at the same
speed?

A) 8% hrs

92!

B) EHJ
1

C) 10-trs
4

2
D) 10Zms
3

54) ve qie 8 el 20 fGesa 80 Fsmifica aigl @sa | A7le sedsq 160 fsnificn Qigl @69Ig 6960 AAa MG ?
3
A) B—hrs
) 5

9 = i
—hrs
B) 3

C) 10% hrs
3
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i
D) 102 ks
3

55) In set theory, the cardinality of a set represents the

A) Number of elements

B) Type of elements

C) Quality of elements

D) Intersection of elements

55) sac dnigsq, 9@ 6A6R ARG g @4iq

A) QUIQIRYRR el
B) @aieirgéea gaia
C) eQIQIRgeaa gaeal
D) QUIIYPPR FERD

56) What is the square root of 123456543217

A) 11111
B) 11011
C) 10111
D) 111111

56) 12345654321 a ed @ @’¢1 ?

A) 11111
B) 11011
C) 10111
D) 111111

57) The midpoints of a square of area 400 sqg. cm are connected to form another square. What is the
area of the square thus formed?

A) 100 sg. cm
B) 196 sq. cm
C) 200 sq. cm
D) 220 sq. cm
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57) 4@ ¥oo 9d 5af 68gTe G488 906890 QLR ARIFLYEY 620 rFe 62Tl YR I TSTTR SIITR 6R6E 629 ?

A) 100 o sad
B) 196 ¢ eaf
C) 200 a4 saf
D) 220 4 sad

58) If acb= 3:4, c. d = 5:6 and b:d= 2.3, then a:b:.c.d is
A) 2:3:4:5
B) 3:4:5:6
C)4:56:7
D) 5:6:7:8

58) ad a:b= 3:4, c: d = 5:6 e b:d= 2:3 24, 6e6e a:b:c:d s2ad

A) 2:3.4:5
B) 3:.4.5:6
C) 4:56:7
D) 5:6;7:8

59) Two finite sets have m and n elements. The number of proper subsets of first set is 56 more than
the number of proper subsets of the second. The values of m and n are

Alm=7andn=6

Bym=5andn=1

Cim=8andn=7

D)m=6andn=3

59) 9af ai1fie 626 68 M Ye° N QUILIS QEF | gaF 6a¢ & AAYS ALEAT Sl §O19Q AU APEAT el 2ead 56 2 | M e
N Q ga4 6208

Alm=749wn=6
Bym=549n=1
Cim=8yen=7
DDm=64wwn=3
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60) What is the square root of the following polynomial ?Polynomial: X*4 + 10X*3 + 37X"2 + 60X +
36

A) XA2+4X+6
B) X"2+6X+6
C) XA2+5X+6
D) X"2+2X+6

60) fofdge afsrifizing @4 e @’6 ?

afeaifiziq: XM + 10XA3 + 37X"2 + 60X + 36

A) X"2+4X+6
B) X"2+6X+6
C) X"2+5X+6
D) X"2+2X+6
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) In which layer of the Earth's atmosphere most clouds appear?

A) lonosphere

B) Exosphere

C) Thermosphere
D) Troposphere

61) 6010 galie gEIIa QIPILIRR 694 2R6R SQHIAI ?
A) 2126213AQ

B) 96qidza

C) 2l6ciidaQ

D) g6aIGaQ

62) The largest hot desert on the Earth among the following options is

A) Arctic Desert

B) Gobi Desert

C) Sahara Desert
D) Antarctica Desert

62) AONYC TRAYLR F1:I6Q YYIIQ AGOIQ 98 T AQYE 628
A) 2196 AQeE

B) 6318 Age@

C) aigial Aged

D) 2igiatel FQ@d

63) Who was the first Chief Election Commissioner of India ?

A) Moraji Desai
B) SP Sen Verma
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C) KVK Sundaram
D) Sukumar Sen

63) aeca gaa gal felee afdra &4 °?

A) 4IRIRT 694lIR

B) e sae a4
C) 6996x gead
D) 92¢19 629

64) Emperor Shah Jahan built the beautiful Moti Masjid at which place in India?

A) Delhi

B) Amarkot
C) Jaipur
D) Agra

64) ACIC S NG ARG 62Q JRER AR 691G FAFQ IS @QY6M?

A) o

B) agaseic
C) faga

D) &gl

65) What is the literal meaning of El Nino?

A) God of destruction
B) The Little Boy

C) The Little Girl

D) The Lady

65) El Gsal @ 2186 @d @€ ?

A) fe189 aga
B) &gl dml
C) é81¢' &2
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D) @2%l

66) Which of the following options is an example of constructive forces on the Earth?

A) Earthquake
B) Tornado

C) Hurricane
D) Volcano

66) FORYS FRIYER AUQ 6966 JUTIER FORTRS HBR AAILRE?

A) gas

B) oqie@l
C) gdewa
D) eicq193Q

67) Parliament may in exercise of its constituent power amend by way of addition, variation or repeal
any provision of this Constitution in accordance with the procedure laid down in which article

A) Article 346

B) Article 368

C) Article 366

D) Article 342

B67) ag 92Ie AL FPEARID TSI 6AAGR 6A6RIAT QG 6AIFR, UGRER KGR F 02 KGR gF 69R Uala AFe gFal
2RdI6a F8IAe *dalge

A) diel ms9

B) ael N1

C) sl N9

D) el 9

68) The Right to a speedy trial is a...?

A) Legal Right
B) Constitutional Right
C) Fundamental Right

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

D) Directive Principles of State Policy

68) 41g It FEIQ 2FIQ 6208 IR ...

A) U[IES AAAIR
B) AFUER 2RI

C) 6711Ra 2RI
D) ist 8196 fedaaicl

69) Beyond the Arctic Circle, the regions experience 24 hours daylight in summer season due to the
North Pole facing continuously towards the pole. This phenomenon is known as

A) Midnoon Sun

B) Rising Sun

C) Shining Sun

D) Midnight Sun

69) 2iIRca AR VW6, QAR 60Q FAIFS AR 67Q 2] LIRNYRQ 1Y 696a 1@ rergla 9% el IIEAIRR AR K08 |
4@ QGEIT 92 NS FEIGS!

A) €Ig gy

B) @@adie qdi

C) age casiaiadel gy
D) ciaIS@Iaie Qe

70) The second Round Table Conference was held in which year?

A) 1930
B) 1932
C) 1931
D) 1939

70) G010 QI0g 699R TR 609 99 CAITS 6LRYR ?

A) 2eao
B) e¢m9
C) eeme
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D) ¢

71) In the history of Medieval India, the first ruler and the founder of Lodi Dynasty was

A) Malik Sultan Shah Lodi
B) Bahlul Lodi

C) Ibrahim Lodi

D) Sikandar Lodi

71) CIGOIY QI RGRAAER JeULT FIAR NQ° 6RIT QR°ER JGVIGI 6m |

A) OR@ IRIF 41T 6RIG

B) caqm 6ni@

C) Qi@ 6mI@
D) deoq smi@

72) The Kyoto Protocol..

A) was adopted in Canada as a signatory to the protocol

B) was adopted in Kyoto Japan in January 1997

C) applies to the six greenhouse gases listed in Annex A

D) has good gases which are-CO2, CH4, N20, HFCs, PFCs, CO

72) Q19661 6916018 ..

A
B
C

) cdlegiamea e @2sowal GlYea @lFILlea g8 aaldiaeml
) @I R ¢ 9 6Q RRET| PITPER Y26 @RAULIREmI

) @aq A 60 SIRQIgR 82F gIe 210 SHIQ AR IYSY

D) oa aua 0@d saugée sead-C0O2, CH4, N20, HFCs, PFCs, CO

73) With the introduction of Panchayati Raj post the 73rd Amendment of the Constitution

A)
B)
C)
D)

>

A state can transfer 29 subjects mentioned in the State list to the Panchayati Raj institutions
These subjects are mostly linked to development and welfare functions at the local level
These subjects are related to only empowerment of women

A state can transfer 25 subjects mentioned in the State list to the Panchayati Raj institutions
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73) QAuga oM 6F1 CreEIR J6Q rRILFNIRa geor a8

QY SINNIEE Q6N FALIRES| 9 ¢ & LEFRY G° ¥a QIR RIAE Qe AU RIS fAIGe
98 A6EQRY FIIER e Y10 206a FRIE 99 PRy @Iy A8e YS

92 A6FQY C1I6R saen A2R! 8808 986 966

QIS CIRRIEE ERY FAIAIRLS 98 & ACFRY @° IS QIS IO QIR QARG FRIea FGAEe

74) What will be the time at Durban (longitude 30°E), when the time is 8 a.m. at New York (longitude
75°W)?

A) 12 p.m.

B) 1 p.m.

C)2p.m.

D) 3 p.m.

74) 60606967 Fy0n6ea ana aqie I ¢ (Qda 98°W) saipaN, o996 (@189 Mo °E) ana 6966 629 7

A) &9 a.99 (FaRIg ¢ 961)
B) & 9.49¢ (29I &)
C) 9 4.<9 (2aaig 941)
D) M 4.9 (aaa12 Me1)

75) Who accompanied Bhagat Singh to explode the bomb at the Central Legislative Assembly in
Delhi?

A) Bagha Jain

B) Parmanand

C) Chandra Shekhar Azad
D) Batukeshwar Dutta

75) dqia 69910 FuIRARIEa F6910d Qe IE96 e ae &4 2Idesm ?

A) Sl [S=la)
B) aesliee

C) L 648 UIRIQ
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D) ageege @@
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which of the reaction or reactions produce a carbocation intermediate?

A) Sn1 and E1
B) Sn1 and E2
C) Sn2 and E2
D) Sn2 and E1

76) 9830 fl 9EFaIgEe crIQ 6RAT QIERIERaR GreafidNe 98 @6a ?

A) Sn1 e E1
B) Sn1 g E2
C) SN2 9wer E2
D) Sn2 e E1

77) What will the value of 109 °F in K?

A) 22515 K
B) 117.25 K
C)410.57 K
D) 315.93 K

77) Kea 109°F @ ¢lI@ @’s 629 2

A) 225.15 K
B) 117.25 K
C) 410.57 K
D) 315.93 K

78) 1kW is equal to how many Watt?

A) 10W
B) 10000W
C) 100W
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D) 1000W

78) 1kW 6@6@ €I Q80 Qaie ?

A) 10W

B) 10000W
C) 100W
D) 1000W

79) What is the function of centrosome?

A) formation of spindle fibres
B) osmoregulation

C) secretion

D) protein synthesis

79) sascieaIa fI /¢ ?

A) 28a diaeq Sud
B) 269150g6R2R
C) Rde a8a

D) 6915e degda

80) In Parkinsonia modification of which of the following into leaf-like structure is called as phyllode?

A) Stamen

B) Secondary rachis
C) Stigma
D) Stipules

80) aifeqifal rsaIFER 98 F FASFIER FIRYS F1IQ 684Tg TFeale qalard ?

A) A6a9
B) 6aqeql Qigq

C) Qqu
D) 49%
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81) Which of the following reaction does occur in Group 1 elements?

A) 6Na + N2 — 2NazN
B) 6Li + N2 — 2LisN
C) 6K + N2 — 2KsN
D) 6Rb + N2 — 2RbsN

81) ga ¢ eaeIegde Ausa FgRge oAl AUQ QA8 Q6% ?

A) 6Na + N2 — 2NasN
B) 6Li + N2 — 2LiaN
C) 6K + N2 — 2KaN
D) 6Rb + N2 — 2RbsN

82) What will be the volume of 8.8 g of an ideal gas at 27 °C and 600 mm Hg pressure? Given the
molecular weight of the gas is 44 g/mol.

A) 428 L

B) 3.87 L

C)6.23 L

D)7.43L

82) 27°C <& 600 mm, Hg aasa e 2i04d auiae 8.8 g @ afiale @4 629 ? quIde aRgaIa Ges 62R8 44 g/mol

A) 4.28 L
B) 3.87 L
C)6.23 L
D)7.43L

83) A charged battery is an example of

A) potential sound energy
B) potential chemical energy
C) potential radiant energy
D) potential thermal energy
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83) QI @ACLRE A UILIA RWILAS] 64ml

A) 966 90 99

B) §0¢ aaiare aa
C) 40¢ 3@aq 9@
D) 3%e c1ae €@

84) IMVIC test is carried out to distinguish the presence of

A) E.coli from Clostridium

B) E.coli from other bacteria

C) E.coli from Enterobacter aerogenes
D) E.coli from Streptococcus

84) IMVIC aoral 1L1Q 20déq §q @269l alel @a1aid

A) 69188909 Q.6Q1R

B) R I1914Q A.6QIR

C) T606QIRHIQQ 6RISHI .69
D) 68696R104 Q R.6QIa

85) The membrane bound vesicular structures formed by the process of packaging in the golgi
apparatus is

A) Ribosomes

B) Mitochondria

C) Chloroplast

D) Lysosomes

85) 07 aueadsa Qucas 9aal Qial 606 67698 ofl 6adgRIa J0RYER 62a8

A) QAREVCRIE]
B) QFGIGG'I@@"&I
C) NN ()

D) mMIREAICLIL
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86) Drupe is a type of fleshy fruit the important distinguishing character of these fruit is

A) stony epicarp
B) stony mesocarp
C) stony endocarp
D) stony pericarp

86) 20 62ad 1@ geIn arags ow, @ owa 9eead 9ae o c2ad

A) s8i91 1dad
B) 6261 6c6QIRId
C) 68191 w68iRId
D) 2161 6a8ad

87) An element crystallizes in a simple lattice in which the distance between the nearest neighbouring
atoms is 250 pm. What will be the radius of the atoms (r) and edge length (a) of the unit cell?

A)r=62.5pmand a = 250 pm
B) r=125pm and a = 250 pm
C)r=83 pmanda=150pm

D)r=125pm and a =353 pm

87) 9% 2aIQIe @ 968 AIFA6a ITF 24 6996a Aae ¢ aeriga @eel 250 pm |1 gfe cana aarig () ¥e° diee a2 (a) @
QIS 6Q62 629 ?

A) r=62.5 pmuea =250 pm

B) r= 125 pm e a = 250 pm

C)r=83 pmxera=150 pm

D) r=125pmwe a = 353 pm

88) What is the Sl unit of mass?

A) kelvin

B) kilogram
C) meters
D) second

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App ~ WtsApp/Call- 8596976190

88) Q@4 S| @@ @6?

A) 2R
B) @eqigliel
C) dica

D) 6q6ae

89) Acute thymic damage can cause

A) Loss of an antibody-mediated immunity

B) Significant morbidity and mortality
C) Deafness

D) Reduction in stem cell production

89) ¢19 4@ 86 ILIQ RIS 6LIRN ISR

A) 9@ PGRE-C1IGS 9oag 29I
B) qo@as saie we geyeln

C) uge!

D) 6841 62R @QALER 2Q

90) Which of the following statements regarding eukaryotic cell is CORRECT?

A) DNA not associated with histone proteins
B) 80S type of ribosome is present

C) 708 type of ribosome is present

D) Organised nucleus is absent

90) Sgfge FANEIYER ki AARIACER 63U ANAER 6RLE AOR 6T ?
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Question Paper No: 62325 20
Answer Key
1B 31| B 61 | D
2|B 32 |G 62 |C
3|1C 33 1A 63| D
4 A 34| B 64 | D
5/D 35|B 65| B
6|A 36 | B 66 | D
71A 37 | C 67 | B
8| A 38 | B 68 | C
91A 39| B 69 | D
10 | D 40 | A 799 C
11| B 41 | B 71 | B
12| B 42 | D 72 | B
131 A 43 | B 73 | A
14| D 44 | A 74 | D
I5|1A 45 | C 75| D
16 | A 46 | D 76 | A
17| B 47| C 77 | D
18| C 48 | D 78 | D
19| B 49 | D 791 A
20| C 50| B 80 | B
21 |B S11A 81 | B
22 | € 52| A 82 | C
23 | A 53|D 83 | B
24 | A 54| D 84 | C
257TC 3 | A 85| D
26 | B 56 | D 86 | C
27| B T | 87 | B
28 | C 58 | B 88 | B
29 | B 59D 89 | B
30| C 60 | C 9 | B
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